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Time : 3 Hours Méx Marks : 80

SECTION - A
Answer all questions. Each question carries one mark.
1. Define job costing.
What is de escalation clause ?
Name two industries where process costing is conveniently employed.

What is marginal costing ?

What is basic standard ?
What is split off point ?

2:

3.

4.

5. What do you mean by joint product 7
6.

7

8. Define service costing.

O.

What is sub contract 7
(10x1=10 Marks)

10. What is angle of incidence ?
p.T.0.
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Answer any elght questions. Each question carries 2 marks.

11.

2
13.

14.
15.

16.

17

18.

19. Explain extra work with example in the context of contract account.

20. Explain the features of service costing.

2-

SECTION -B

From the following information calculate the amount of contribution and profit
sales Rs. 10,00,000, variable cost Rs. 7,00,000, fixed cost Rs. 1,50,000.

Explain the three types of contract.

State the features of batch costing.

What is work in progress ? How it is calculated ?

List out the different methods of apportionment of joint cost.

Compute the economic batch quantity from the following information
Actual demand for the product 4000 units

Setting up cost Rs. 100

Cost of manufacture per unit Rs. 2,000

Rate of interest per annum 10%.

Joint cost of the product X and Y is Rs. 60,000 and the market values of X and Y
are Rs. 40,000 and Rs. 80,000. Apportion the joint costs on the basis of the

market value at split off point.
You are given the following :
Margin of safety Rs. 60,000, representing 40% of sales p/v ratio is 50%.
Calculate :
) Break even sales

ii) Fixed cost.
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22.
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A coke manufacturin
g company produces the followi
WiNg products from
10560

tonnes of coal at Rs. 20 per ton.

_I(.E-Oke 6000 tonnes
Bar 3000 tonnes

enzole 400 tonnes
Sulphate of ammonia 200 tonnes

Apportion the cost amongst the pr. ' -
method. products on the basis of the physical unit and

Rs.
Direct material | 16
Direct labour 12
Variable overheads 10
Fixed overheads 08
Cost per unit 46

The same component can be obtained from other manufacturers at Rs. 42 each.
The company requires 10,000 units of the component per annum. Should the
firm manufacture it or buy from outside ? (8x2=16 Marks)

SECTION -C

Answer any six of the following. Each question carries 4 marks.

23.

24.

25,

" overhead at 50% of labour. Norma

Differentiate between job costing and contract costing.

i ? What
What is notional profit ? Why do you create reserve out of notional profit

is the treatment of notional profit 7

ess X and Y at a cost of Rs. 60 per unn::i
bour Rs. 12,000, material Rs. 3,240 ar;
d in the process was 10%
of Rs. 8 per unit. The
ferred to process Z

| Wastage

900 units were introduced from proc

The expenses of the process weré la
| wastage expectée

ss with a scrap value
820 units 10 be trans
ain Account and Norma

of the units introduced to the proce
actual output of the process Y was

Prepare Process Y Account, Abnormal G
Account.




26.

27.

28.
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How estimated cost is differentiated from standard cost ?

Z Ltd. manufactures product A which yields two by-products X and Y in a period
the amount spent up to the point of separation was Rs. 26,000. Subsequen
expenses were :

A B C
(Rs.) (Rs.) (Rs.)
Materials 300 200 150
Direct wages © 400 300 200
QOverheads 300 270 280
Total | 1,000 770 630

Gross sales value of product A, X and Y was Rs. 15,000, Rs. 10,000 an
Rs. 5,000 respectively. It is estimated that the net profit as percentage of sale
in case of X and Y would be 25 percent and 20 percent respectively.

Ascertain the profit from the Process of Product A.

A company manufactures and markets three products X, Y and Z. All the three
products are made from the same set of machines. Production is limited by‘

machine capacity. From the following data given below, indicate priorities for
products X, Y and Z with a view to maximising profits.

Products
X Y Z
Raw material cost per unit in Rs. 1125 1625 21.25
Direct labour cost per unit in Rs. 250 250 2 50
Other variable cost per unitin Rs. 150 2.25 3.55
Selling price per unit in Rs. 25.00 30.00 35.00

Standard machine time required per unit in minutes 39 20 08
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29. From the following information

30.

i
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. ’ Com Ute Pl’i i .
data given below : g ce and Quantity variables from the

Standard Actual
Quantity in kilos Price Total Quantity in kilos Price Total
Material A 10 3 30 15 4 60
Material B 15 4 60 25 3 75
Material C 25 2 50 o0 = N
Total 50 140 L “n

A transport service company is running five buses between two towns which
are 50 kms apart. Seating capacity of each bus is 50 passengers. The Iollowmg
particulars were obtained from their books for April, 2016.

Wages of drivers, conductors and cleaners Rs. 24,000
Salaries of office staft Rs. 10,000
Diesel oil and other oil Rs. 35,000
Repairs and maintenance Rs. 8,000
Taxation, insurance etc. Rs. 16,000
Depreciation Rs. 26,000
Interest and other expenses Rs. 20.000

Rs. 1.39,000

rcent of seating capacity. All buses ran

Actual passenger carried were 75 pé
: v de one round trip per day. Find out the

on all days of the month. Each bus ma
cost per passenger km.

The following relate to a concermn

Variable cost per unit Rs. 15
Fixed cost 'Rs. 54,000
Rs. 20

Selling price per unit

Calculate break even sales. Wh
point should be brought down

i i unit if break-even
at should be the selling price per (6x4=24 Marks)

to 6000 units ?
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SECTION -D

Answer any two of the following. Each question carries 15 marks.

32. Marginal costing helps the management in making decision on some of the
crucial managerial problems. Explain.

33. The following details are extracted from cost records of an oil refinery for the week
ending 30" April 2016. Purchases of 5400 kgs. of oil seeds for Rs. 1,89,000.

ltems Crushing Refining Finishing
Cost of labour 2,500 1,100 1,600
Electric power 1,200 750 680
Sundry materials 300 1,750 | -
Factory expenses 1,400 620 200
Cost of casks - 8,000

3,200 kg of crude oil was produced. 2,600 kg of oil was produced by the refining
process. 2,550 kg of oil was finished for delivery. Sacks sold for Rs. 600. 1,925
kg of oil cake sold for Rs. 12,000. Loss in weight in crushing 275 kg. 500 kg of
by-products obtained from refining process sold for Rs. 7,500.

You are required to show the accounts in respect of each of the above stages of
manufacture for the purpose of arriving at the cost per kgs of each process.

34. Manoj undertook a contracton 1 st April 2013 for a contract of Rs. 50 lakhs. The
following relate to the contract for the year ending 315t March 2014

Materials issued

. 18,00,000
Wages paid 14,00,000
Sundry expenses paid 80,000
Sundry expenses outstanding 20,000

Materials transferred from other contracts 3,00,000
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W0
Plant installed on 18! October 2013 3,00,000
Value of plant transferred from other contracts 2,00,000
Value of plant at site on 31-3-2014 2,20,000
Materials at site on 31-3-2014 60,000
Materials transferred to other contracts 40,000
Work uncertified 2,00,000
Cash received being 75% of work certified 30,00,000

T R R T N D SR S ST T g T
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Prepare Contract Account. Show the items in the Balance Sheet. Also show

how the items will appear in the Work-in-progress Account and Contractee’s
Account.

Multiple products Ltd. has two Projects; Project X and Project Y. Their budgeted
Profit and Loss account for the year ending 315t March 2016 is as follows :

Project X Project Y
Sales 6,00,000 6,00,000
Less : Variable cost 3,00,000 3,60,000
Fixed cost 1.00.000  4.00,000 40,000 4.00.000
Budgeted profit 2,00,000 2,00,000

You are required to calculate :
a) The break-even points of each concern.
b) Sales required to earn a profit of Rs. 3,00,000 each.

c) State which business is likely to earn greater profit in conditions of

heavy demand for the product (boom) and low demand for the product
(depression). (2x15=30 Marks)
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SECTION - A
Answer all questions. Each question carries 1 mark.
4. What is Job Costing ?
Give a brief account of Batch Costing.
What do you understand by Retention Money ?
What do you mean by by-products ?
Furnish the formula 1o calculate the value of Abnormal Process Gain.
Bring out the meaning of Absorption of Overheads.
What are cost plus contracts ?
What is meant by Normal Process Loss ?
What is the formula to calculate B.E.P. ?

_ What is Margin of Safety ®

© ® No ok ON

(10x1=10 Marks)

-—
o

SECTION - B

Answer any eight of the following. Each question
11. What are the advantages of job costing ?
12. What do you mean by semi-variable cOStS 2 Give examples.

13. What are the characteristics of process costing 7
14. Name two industries where job costing methad is applied.
15. What is Cost-Volume-Profit analysis ? i

carries 2 marks.




G-

16.
g i

18.
19.

20.

el
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What is material yield variance ? ny using batch costing with
Compute the Economic Batch Quantity fora compa
the following information :

its
Production per year 12'0%05 u: 50
Set up cost per batch Rs. 0.20

Carrying cost per unit

| [ tv
Write the formula to calculate material COS | | |
t from the following particulars -

ariance.

Determine the amount of variable COS

Rs.

Sales 1,50,000
Fixed cost 30,000
Profit 40,000
The sales turnover and profits during two periods are as under :
Period Sales (Rs.) Profit (Rs.)

| 20,00,000 2,00,000

I 30,00,000 4,00,000

Calculate P/V Ratio.

Find out the amount of profit if P/V ratio is 30%; margin of safety is 33 _1-% and
sales are Rs. 9,90,000. 3

The following information is extracted from the job ledger of Skyline Enterprises
in respect of Job No. 123 :

Materials Rs. 6,800; wages 100 hours @ Rs. 5; variable overheads i
for all jobs Rs. 10,000 for 5,000 labour hours. ncurred

Find the profit if the job is billed for Rs. 9,000. (8x2=16 Marks)

SECTION -C

' Answer any six of the following. Each question carries 4 marks

23.
24.
25,

26.
27.

Discuss the different methods of calculating prof

it on an incomp|
: . et ,
Briefly explain the procedure involved in Job Costing Piete contract

What are the basic features of contract costing ?

What are the assumptions underlying Cost-Volume Profit A
The following data relate to Job No. 777 . nalysis ?

Materials Rs. 50,000, wages Rs. 30,000, Char

Calculate factory overheads at 20% geable expe
o of wages and ; nses HS_ 10.00
overheads at 5% of factory cost. Ascertain the totg| c?)fgf efand administr:eztiv%
Of the job

Ac
IN&
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SECTION — A
Answer all questions. Each guestion carries 1 mark.
What is Job Costing ?

Give a brief account of Batch Costing.
What do you understand by Retention Money ?

What do you mean by by-products ?
Furnish the formula to calculate the value of Abnormal Process Gain.

Bring out the meaning of Absorption of Overheads.

What are cost plus contracts (4
What is meant by Normal Process Loss 7

What is the formula to calculate B.E.P.?
What is Margin of Safety ?

N oMb

(10x1=10 Marks)

—n
o B W

SECTION - B

Answer any eight of the following. Each question carries 2 marks.

11. What are the advantages of job costing 7
12. What do you mean by semi-variable cost

i ing ?
13. What are the characteristics of process costing |
job costing method IS applied.

is?
analysis | P.T.O.

s 7 Give examples.

14. Name two industries where
15. Whatis Cost-Volume-Profit




LT
16. What is material yield variance ? o baldonging o d
17. Compute the Economic Batch Quantity for acompany U

the following information -

Production per year 12,000 units
Set up cost per batch Rs. 150
Carrying cost per unit Rs. 0.20

18. Write the formula to calculate material cost variance.
i : i iculars :
19. Determine the amount of variable cost from the following particula

Rs.
Sales 1,50,000
Fixed cost 30,000
Profit 40,000
20. The sales turnover and profits during two periods are as under :

Period Sales (Rs.) Profit (Rs.)

l 20,00,000 2,00,000

1 30,00,000 4,00,000

Calculate P/V Ratio.

21. Find out the amount of profit if P/V ratio is 30%: margin of safety is 33 1 % and
sales are Rs. 9,90,000. 3

22. The following information is extracted from the job ledger of Skyline Enterprises
in respect of Job No. 123
Materials Rs. 6,800; wages 100 hours @ Rs. 5; variable overhe '
for all jobs Rs. 10,000 for 5,000 labour hours. a8 incuiTeo

Find the profit if the job is billed for Rs. 9,000. (8x2=16 Marks)

SECTION - ¢
Answer any six of the following. Each question carries 4 marks.
23. Discuss the different methods of Calculating profit on an inCDmplete contract
24. Briefly explain the procedure involved in Job Costing. |
25. What are the basic features of contract costing ?
26. What are the assumptions underlying Cost-\qy,

27. The following data relate to Job No. Tors
Materials Rs. 50,000, wages Rs. 30,000, Chargeapye ¢
Calculate factory overheads at 20% of Wages ang Offi “Penses Rs. 10.000.
overheads at 5% of factory cost. Ascertain the total costcsf th Administrative
€ job.
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{( 29,

30.

31.

3

The standard cost of material for many
is estimated as 16 kg. of raw materials
unit, it was found that 20 kg. of raw materi
consumed. Compute material variances.

From the following details, find out
a) Profit Volume Ratio

b) Breakeven Point

¢) Margin of Safety.

Rs.
Sales 1,00,000
Total costs 80,000
Fixed costs 20,000
Net Profit 20,000

Mr. Mohan undertook a contract for constructing a building on 1¢ July 2016

for Mr. Satheesh. The contract price is Rs. 75,000. He incurred the following
expenses :

Rs.
Materials consumed 25,000
Materials in hand at the end 1,000
Wages 35,000
Direct expenses 20,000
Plant purchased 10,000

The contractwas completed on 31-3-2017. The contract price was duly received.
Provide depreciation at 10% p.a. on plant and charge indirect expenses at
20% on wages. Prepare Contract Account in the books of Mr. Mohan.

From the following information, calculate material mix variance :

Materials Standard Actual
Quantity  Price per unit Quantity Price per unit
(Units) (Rs.) (Units) (Rs.)
A 40 10 50 12
E 60 5 50 8

(6x4=24 Marks)

SECTION -D

Answer any two of the following. Each question carries 15 marks. —
32. From the following data relating to Vehicle A, compute the cost per running mile :

Mileage run (annual) Rs. 15,000
Cost of vehicle Rs. 25,000
Road license (annual) 2: ;gg

Insurance (annual)



Garage rent (annual) Rs. 1,200
Supervision and salaries Rs. 3
Driver's wages per hour Rs. 3
Cost of fuel per gallon o0 miles
Miles run per gallon _ Rs. 1.65
Repairs and maintenance per mile Rs. 0.80
Tyre allocation per mile 100,000 ilas

33.

34.

35.

Estimated life of vehicle

Wiy,
W

i icle runs 20 mile
Charge interest at 5% per annum on cost of vehicle. The veh S

per hour on an average.

The following was the ex
in January, 2014 :

Materials Rs. 1,20,000: Wages Rs. 1,64,400; Plant Rs.

Charges Rs. 8,600.

Cash received on account to 31t
being 80% of work certified; the value of materials in hand
Rs. 10,000. Prepare the Contrac

penditure on a contract for Rs. 6,00,000 commence

20,000; Business

December, 2014 amounted to Rs. 2,40,000

at 31-12-2014 was

t Account for 2014 showing the profit to be

credited to the year's Profit and Loss Account. Plant is to be depreciated at 10

The following information is given in respect of Process A

Material 1,000 kgs @ Rs. 6 per kg
Labour Rs. 5,000
Direct expenses Rs. 1,000
Indirect expenses allocated to Process A Rs. 1,000

Normal wastage — 10% of input
Prepare Process A Account when :

a) Scrap value of normal loss is nil and

b) Scrap arising out of normal loss has a sale

Two business AB Ltd. and CD Ltd. sell the same type of

value of Re. 1 Per unit.
Product in the same

market. Their budgeted profits and loss accounts for the year ending 30" June

2012 are as follows -

Sales 1,50,000

Less variable cost
Fixed cost
Budgeted net profit

You are required to calculate the Break Even Point of each
which business is likely to earn greater profits in Conditiong

a) Heavy demand for the product
b) Low demand for the product.

e

CD Ltq.
Rs.
1,50,000
1,00,000
35,000
15,000"

boL;siness and state

(2x15=3¢ Marks
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30.

31.

Answer any two of the following. Each questio

From the following details, find out
a) Profit Volume Ratio

b) Breakeven Point

c) Margin of Safety.

Rs.
Sales 1,00,000
Total costs . 80,000
Fixed costs 20,000
Net Profit 20,000

Mr. Mohan undertook a contract for constructing a building on 1 July 2016

for Mr. Satheesh. The contract price is Rs. 75,000 ' :
expenses : . 75,000. He incurred the following

Materials consumed | 25,(?086
Materials in hand at the end 1,000
Wages 35,000
Direct expenses 20,000
Plant purchased 10,000

The contract was completed on31-3-2017. The contract price was duly received.
Provide depreciation at 10% p.a. on plant and charge indirect expenses at
20% on wages. Prepare Contract Account in the books of Mr. Mohan.

From the following information, calculate material mix variance :

Materials Standard Actual _ .
Quantity Price per unit Quantity Price per unit
(Units) (Rs.) (Units) (Rs.)
A 40 10 gg 1%
° = > (6x4=24 Marks)
SECTION-D

n carries 15 marks.

A, compute the cost per running mile :

- ‘ Vehicle
32 From the following data relating to V€ Rs. 15,000

Mileage run' (annual) Rs. 25,000
Cost of vehicle Rs. 750
Road license (annual) Rs. 700

Insurance (annual)
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33.

34.

0,

_4-
Garage rent (annual) Rs. 600
Supervision and salaries Rs. 1,200
Driver's wages per hour Rs. 3
Cost of fuel per gallon Rs. 3
Miles run per gallon 20 miles
Repairs and maintenance per mile Rs. 1.65
Tyre allocation per mile Rs. 0.80
Estimated lite of vehicle 1,00,000 miles

Charge interest at 5% per annum on cost of vehicle. The vehicle runs 20 miles
per hour on an average.

The following was the expenditure on a contract for Rs. 6,00,000 commenced
in January, 2014 -

Materials Rs. 1,20,000; Wages Rs. 1,64,400; Plant Rs. 20,000; Business
Charges Rs. 8,600.

Cash received on account to 31 December, 2014 amounted to Rs. 2,40,000
being 80% of work certified; the value of materials in hand at 31-12-2014 was
Rs. 10,000. Prepare the Contract Account for 2014 showing the profit to be
credited to the year's Profit and Loss Account. Plant is to be depreciated at 10°

The following information is given in respect of Process A :

Material 1,000 kgs @ Rs. 6 per kg
Labour Rs. 5,000
Direct expenses Rs. 1,000

Indirect expenses allocated to Process A Rs. 1 ,000

Normal wastage — 10% of input

Prepare Process A Account when -

a) Scrap value of normal loss is nil and

b) Scrap arising out of normal loss has a sale value of Re. 1 per unit.

Two business AB Ltd. and CD Ltd. sell the same type of product in the same

market. Their budgeted profits and loss accounts forthe year ending 30" June
2012 are as follows : '

AB Ltd. CD Ltd.
Rs. Rs.
Sales 1,50,000 1,50,000
Less variable cost 1,20,000 1,00,000
Fixed cost 15,000 35,000
Budgeted net profit 15,000 Tsfgao‘

You are required to calculate the Break Even point of each busin

which business is likely to earn greater profits in conditions of = AR state
a) Heavy demand for the product

b) Low demand for the product. (2x15=30 Marks)
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Time : 3 Hours | Max. Marks : 80

SECTION - A
Answer all questions. Each question carries 1 mark. :

1. Define cost accounting.

2.  Whatis job costing?

. H '?
3. What do you mean by economic batch quantity’
4. What is escalation claus_e'?

5. Define process costing. 4

6. What is a joint product?

in transport industry.

7 m i harges |
‘ve two examples of running €

. Give -




8. Define marginal cost. 9.
9. Whatis P/V ratio?
10.  Explain material mix variance- 20

(10 x1]= 10 Mark

SECTION - B

Answer any eight questions. Each question carries 2 marks.

11.

12.

13.

14.

15.

16..

17.

Why does abnormal loss arise? How will you treat it in cost accounts?

State merits of cost plus contract.

Give four applications of marginal costing.

State four salient features of service costing.

What are the features of absorption costing?

From the following calculate the amount of profit to be credited to Profit and

Loss A/c. Notional profit Rs.30,000; Stage of completion of contract 80%; Cash
received as a percentage of work certified 75.

Compute the EBQ from the following:
Annual demand for the component 24,000;
Set-up cost per batch Rs.120:

Carrying cost per unit of Production Rs.0.36.

- A truck starts with a loaq of 10 tonnes of goods from station P. It unloads

4 tonnes at station Q ang "est of the goods at station R. It reaches back directy
fo station P after getting reipgdeq with 8 tonnes of goods at station R- Thj
distances between P to Q, q ¢, R and then from R to P are 40 kms., 60 kms. a1
80 kms. respectively. CDmpute absolute tonne-km.

J- 1957
2
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9. From the following datg you
' ar r

. e req;:
Fixed expenses Rs.90,00¢. y,.. " "°dto calculate PV Ratio,

s.12. arigh .
R le Cost per unit Rs.9: Selling price per unit
20. From a joint process, 2¢ :
C are obtained. T 000 Units of A '
he cost before , 25,000 units of B and 25,000 units of

Split off point for the three products is

Rs.1,40,000. Apportion the in;
0l
Joint cogtg among the products using average unit

cost method.

' 21. Calculate break-even sales from the following data
g s

Profit Rs.1,00,000(25% of sales); Py Raq 5ot

22. A manufacturing concern which hag ; ,
following information: adopted standard costing furnishes the

Standard: |

Price of materials Rs.1 perkg.
Actual:

Materials used 280000 kg
Cost of materials Rs.2,52,000

Calculate Material price variance.
(8 x 2 = 16 Marks)

SECTION-C

- i ies 4 marks.
Answer any six questions. Each question carries

m the following data:

23. Calculate Equivalent production, fro 3500 units
Units introduced into process | 2650 units
Units completed - | 400 units
Closing work-in-progress |
Degree of completion: 80%

60%

Materials
Labour and Overheads
Normal loss is 10% of the input: J - 1967



4. From the following particulars relating to Job No.1515, find out the total cost and

25.

27,

estimated selling price:

Direct materials Rs.17,600: Direct labour Rs.8,000

Works overheads are recovered on the basis of 50% on prime cost and

gdministrative overheads 10% of works cost. Estimated selling price should
include 20% profit on selling price.

From the following data calculate P/V Ratio, BEP, Profit when sales are
Rs.80,000 and Sales required to earn a profit of Rs.20,000.

Sales Rs.1,00,000;
Variable cost Rs.60,000;

Fixed cost Rs.30,000

A manufacturing company finds that while the cost of making a component part is

Rs.10, the same is available in the market at Rs.9 with an assurance of
continuous supply.

Should the company make or buy this component? The cost information is as
follows:

Material Rs.3.50; Direct labour Rs.4.00; Other variable expenses Rs.1.00; Fixed
expenses Rs.1.50.

From the following data, calculate material yield variance:

Consumption for 100 units of product

Standard Mix Actual Mix
Material A 40 units @ Rs.50 ST arilt 50 units @ Rs.50 per unit
Material B 60 units @ Rs 40 per unit | 60 units @ Rs.45 per unit

J - 1967

1




28. How do you calculate profit on incomplete contract?

29. Bring out the differences between marginal costing and absorption costing.
30. Explain the different methods of apportionment of joint costs.

31. Distinguish between standard costing and budgetary control.

(6 x 4 = 24 Marks)

SECTION-D
Answer any two questions. Each question carries 13 marks.

32 A firm of building contractors began to trade on 1** April, 2017. Following was the
expenditure on the contract for Rs.3,00,000:

Materials issued contract Rs.51,000;
Plant used for contract Rs.15,000;
Wages incurred Rs.81,000;

Other expenses incurred Rs.5,000.

Cash received on account to 31% March,2018, amounted to Rs.1,28,000 being
the work certified. Of the plant and materials charged to the contract,

80% of
plant which cost, Rs.3,000 and materials which cost Rs.2,500 were lost. On
31t March, 2018 plant which cost Rs.2,000 was returned to store, the cost of

work done uncertified was Rs.1,000 and materials costing Rs.2,300 were in hand

on site.
and take to the profit and loss account 2/3 of

9 reciation on plant,
Charge 15% deP ¢ Account, Contractee's Account and Balance

the profit received. Prepare Contrac

Sheet from the above particulars-
’ J - 1967



viz. Plant X and Plant Y. The following are the

33. Moon Ltd. has two plants plants under the company:

operating details of these two

Particulars plant X (RS-) Plant Y (Rs.)
Sales 10,00.000 8,00,000
Variable cost 6,00,000 5,00,000
Fixed cost. 2,00,000 2,00,000
Capacity utilisation | 100% 50%

It is required to merge both the plants. You are required to ascertain the
following:

(@) Break-even sales and break-even capacity of merged plant. .

(b) Profit and profitability of operating the merged plant at 90% of the capacity.

(c) Capacity level of operation, if profit of Rs.4,00,000 has to be made by the
merged plant.

34. A company manufactures its sole product by passing the raw material through
distinct processes in its factory. During the month of April, 2018, the company
purchased 96,000 kg. of raw materia| @ Rs.5 per kg. and introduced the same in
process 1. Further particulars of manufacture for the month are given below:

Process 1 Process 2 Process 3
Material consumed (Rs.) 33,472 27,483 47,166
Direct labour (Rs.) 80,000 72,000 56,000
Overh
verhead (Rs.) 1,20,000 1,08,000 84,000
Normal waste in Process ag 9, of input 3% 1% 1%
. 0
Sale value of waste (Rs. per kg.) 2 3
; 5
Act i
Ctual output during the month (kg.) 93,000 92,200 91,500

Prepare process
accouy '
nts, Prepare abnormal loss/gain account also.
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35. The standard mix to Produce on Unit of a product is as follows:
Material A 60 unitg @ Rs.15 Per uni = Rs.900

= Rs.1,600
Material C 100 units @ Rs.25 per it = Rs.2,500
240 Rs.5,000

consumption was as follows

Material A 640 units @ Rs.17.50 per unit

= Rs.11,200
Material B 950 units @ Rs.18.00 per unit = Rs.17,100
Material C 870 units @ Rs.27.50 per unit = Rs.23,925
2 460 Rs.52,225
Calculate: |
(@) Material cost variance
(b) Materia| price variance; and
(c) Materig| usage variance: (2 x 15 = 30 Marks)
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